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1. ��
�������������������������� M1 
 
  �����������	
���

�����
���������������������������� � 
�. �!��"�#
�$��	
� 0 
('�������
), 25, 35, 45 ��. 50 Krad �3��
���������4��56����������	
�7""�8�4�
�� $ 9���#'�
�:';�
<�� �$.4����������
'�<# 
=��#4�����
	>�����#�4�� �#4���><=��?=@6 �3��9�
=��?=@6 ��	=���
	>�� �
:�����4�� 20 ������� 2547 ��.
#B�
�����4�
��?����4�� 4 
����
 
2548 D�������������
������<!�4��
����4��<!� �
���4������������7�!����<6�.<!��8����������������� 
  ������;E�F�?�'���4�� 1 (M1) 43�������4E��"����I��<����
	�� �.�.����4��?'!?�
��������� (�.�.����<�B	�<6��#�
���.�
������E	���������) ��.���F$.5#�"�<#4����#�>EB� 5�
���4���	��	��B 
 

1.1 ���
�� !���"��#$��%�$�#�!����&��
����
'��
�$�� 
 
���6��"����I��<����
	��>�	�
���4��7
67�!�����������	
� 0 Krad ('�������
) 
�

�6�
8	4��
�� �:� 99.00 
6�����
	��>�	�
���4��7�!�����	
�?�"�#
�$
8	>EB��6�� K ���	 ��.
����

�<�<6�	��6�	
����
3���@�#�	4�	
�#<#����"����I��<����
	��>�	�
���4��7
67�!�����������	
� ('��
�����
) �:�4��"�#
�$��	
� 25 ��. 35 Krad �
���
��"����I��<����
	�� 77.50 ��. 50.00 <�
�3���� 
(<���	4�� 3) ?�>$.4���
���4�������������	
� 45 ��. 50 Krad 
��"����I��<����
	������	 7.50 
�46���B�  
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��
�$��� 3  �6��������"����I��<����
	��>�	�
���������������������� � 
�. 4��56����������	
�
"�#
�$<6�	 K ����
:������ 7 ���=��	"�8� 

�.�����	
� ( Krad )  �3�����
���4��"�8� �3�����
���4��	�� ���
	�� (%) 

0 ('�������
) 200 198   99.00 a 1/ 
25 200 155 77.50 b 
35 200 100 50.00 c 
45 200 15  7.50 d 
50 200 15  7.50 d 

F � test    ** 
C.V. (%)   14.89 

1/ <����>4��<�
�!��<�����F�4���<�<6�	����
�	���
�<�<6�	4�	
�#<#��6�	
����
3���@�#�	 D���#�� DMRT 
** 
����
�<�<6�	4�	
�#<#��6�	
����
3���@�#�	 (p = 0.01) 

 
  1.2 )*����������
�����+�,�-
-�-�������.��.���
������  
 
  ������"�8��
�������������4��56����������	
�4���.��� 25, 35, 45 ��. 50 Krad 
�.����. 417, 484, 710 ��. 771 �
��� <�
�3���� ���6��3����<!�4�����'��#<4������ 75 ���=��	"�8� 
>�	�.�����	
� 25, 35, 45 ��. 50 Krad  
��3���� 132, 88, 20 ��. 26 <!� <�
�3���� (<���	4�� 4) 
��.�3����<!�4��
�
���������7�!
�����	 99 <!� D����6	�"]� 43 <!�����
���4��56����������	
� 
25 Krad ��.����
���4��56����������	
� 35, 45 ��. 50 Krad �3���� 22, 11 ��. 23 <!� <�
�3���� 
?��3������B������
�	��< ��<!�4��<#������.
�������>�	����<67
6
�
���<#����7�! <!�4��<#�
����<6���7
6<#��
���=�:��
������ ��.<!�4�����
��
���

�8�$�����	��	
6�� D��<!�4���
���56�����
�����	
��.��� 25 Krad 
�
��������������
���7�!
��4��
���3���� 30 <!� ��.�.�����	
� 35, 45 ��. 
50 Krad 
�
��������������
���7�! 9, 7 ��. 13 <!� <�
�3���� ?�>$.4��'�������
"�8� 45 �
��� 
��.�3����<!�4�����'��#<4�� 75 ���=��	"�8�
��3���� 44 <!�  IE�	4�B	 44 <!� 
�
���<#������.����
���������7�! (<���	4�� 4) 
  �.�.����4��?'!?����������>�	<!�����������4��56����������	
� ���6� ������
4�
�����
�<�<6�	�.=�6�	�6�������
�	�6� (T � test) 4���.�����	
�
��6�������>�	�.�.����4��?'!
?�����������<�<6�	����6�������>�	�.�.����4��?'!?����������>�	<!�4��7
656����������	
�
=�:�<!�?�'�������
 IE�	
��6� 45.86 ��� (42 � 55 ���) ����!�<!�4��56����������	
� 50 Krad 4��
�'6�	
�.�.����?�����������6��>!�	��!�	 �:� 31 � 77 ��� D��
��6������� 47.22 ��� 
3�=���<!�4��56��
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��������	
� 25, 35 ��. 45 Krad 
��6�������>�	�.�.����?���������� 50.82 (42 � 75), 58.27 
(42 � 76) ��. 48.64 (39 - 56) ���  <�
�3���� (<���	4�� 5) 
 
��
�$��� 4 �3�����
���4��"�8� �3����<!�4�����'��#<4������ 75 ���=��	"�8� �3����<!�4�������� 

��.<!�4��
�
��������������
���>�	������������������� � 
�. 4��56����������	
�"�#
�$
<6�	 K ���  

<!����'��#< <!�4�������� <!�4�������������
��� �.�����	
� 
( Krad ) 

�3�����
��� 
4��"�8� �3���� �"����I��<� �3���� �"����I��<� �3���� �"����I��<� 

0 ('�������
) 45 44 97.78 44 97.78 44 97.78 
25 417 132 31.65 43 10.31 30 7.19 
35 484 88 18.18 22 4.55 9 1.86 
45 710 20 2.82 11 1.55 7 0.99 
50 771 26 3.37 23 2.98 13 1.69 

 
��
�$��� 5  �6��������.�.����?����������   ��.�6������	���
�<�_��   >�	<!�����������������

��� � 
�. 4��56����������	
�"�#
�$<6�	 K ��� 
�.�����	
� ( Krad ) �.�.����?����������  ± �6������	���
�<�_�� (���) 

0 ( '�������
 ) 45.86 ± 2.82 
   (42 � 55) 1/ 

25 50.82 ± 8.22 
(42 � 75) 

35 58.27 ± 11.26 
(42 � 76) 

45 48.64 ± 5.66 
(39 � 56) 

50 47.22 ± 9.06  
(31 � 77) 

1/ �6�<�3�
�� � �6�
8	
�� 
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  1.3  ���12-�+����+%�$�����������������3����
'��
�$��  
 

������
�	��<�!��
��<� ���6�<!�����������4��7�!�����	
�?�'��� M1 
���	���F$.
4���<�<6�	���'�������
 ��6�	�=��7�!'�� D�����6�������������	<!�
�?�4��5#�"�<# �'6� ?���

��� (�) �3����?�"�.���5#�"�<# (>) ?���
 (�) ?�������=�
 � 
��>����>!
=�� (a) ?���� 
(	) ��.?��6�	 (�) �"]�<!� ��������B��	��<!�4��
��3�<!�5#�"�<#��6�	�3�<!���� (') <!����. (I) 
(�8"4�� 13) ��.<!�4���"]�=
�� ���F$.�"]�=
��4���� 
�
�����6	����"]� 1. ����"]�=
��
��:��	���'6����7
6
������b�� 2. ���
����F$.

�8�$���.<#���� �<6���4��7�!
��
��������.�
���
����7
6
�
���	��7�! 3. ���
����F$.

�8�$���.
����5

��������#�>EB� 
����<#����4��
��
���


�8�$���	
6�� IE�	����"]�=
��?����F$.4�� 3 ��?�4��<!�4��
�
��������������
���7�!  

<!�4�����#@����
���4��56����������	
�4���.��� 35, 45 ��. 50 Krad ���6���	<!�
�
���F$.�"]���6
 ��.���. (�8"4�� 13) D��4����	
��.��� 35 Krad ?=!�3����<!�5#�"�<#�����B
��
4��
���3���� 15 <!� ��	�	
��:� ��	
��.��� 25, 45 ��. 50 Krad ?=!<!�4��5#�"�<# 6, 4 ��. 4 <!� 
<�
�3���� (<���	4�� 6) 43���������������
���4���
��� ��.�3�7";E�F�?�'���<6�7"  
  
��
�$��� 6 �3����<!�4��5#�"�<#>�	������������������� � 
�. 4��56����������	
�"�#
�$<6�	 K ��� 

�3����<!�
����F$.5#�"�<# 
�.�����	
� ( Krad ) ���F$.5#�"�<# 

'�������
 25 35 45 50 
1. <!����. 0 6 15 4 4 
2. ���F$.?�5#�"�<#      
     - ?���� 0 1 0 0 4 
     - ?����F$.��
 0 4 5 5 3 
     - ?��6�	 0 0 2 0 2 
     - ?��������� 0 3 15 4 6 
     - ?�
�>���?=@6=�:�������6�"�<# 0 20 9 5 6 
3. ����"]�=
��      
     - 7
6
���� 0 89 66 9 3 
     - 
�����<67
6<#���� ��.
�����<6���7
6
��
��� 0 13 13 4 10 
     - <#�����<6
��
���

�8�$���	
6�� 0 30 9 7 13 
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       �    >                � 
 

             
 
          a    	               � 
 

             
 
          �    '               I 


����� 13 ���F$.5#�"�<#4����#�>EB�?�<!�������������������� � 
�. '��� M1  
(�) ?���
��� (>) �3����?�"�.���5#�"�<# (�) ?���
 (a) ?�������=�
 � 
��>���
�>!
=�� (	) ?���� (�) ?��6�	 (�) ?�"�<# (') �3�<!���� ��. (I) �3�<!����. 
 



 27 

2. ��
�������������������������� M2   
 
  �
���4������������7�!���<!� M1 
��3�����6��>!�	�!�� ����.<!�
6��=�E�	�"]�=
��
43�?=!<#��
����!��D��<!� M1 ���<!�4�����'��#<4�B	=
� 266 <!� 
�
��������������
���7�! 59 <!� 
(
��<!�) 7
6�6�
'�������
 �3�����
���4�B	
#B� 1,115 �
��� IE�	"�.����!���.�����	
� 25, 35, 45 
��. 50 Krad �3���� 256, 172, 184 ��. 491 �
��� <�
�3���� 43����"�8�4�
�� $ �"�	4���	
�$.4����������
'�<# 
=��#4�����
	>�����#�4�� �#4���><=��?=@6 �3��9�=��?=@6 ��	=���

	>�� �
:�����4�� 25 
����
 2548 ��.
#B�
�����"�8�4�
��?����4�� 30 �
F��� 2548 ���6�
�
���4������������7�!�����	<!�
��"����I��<����
	���6��>!�	<�3� ��	�
���7
6
�
���	��7�! 43�?=!
�3����
��<!���#�
<!�?�'��� M2 
�4�B	
#B� 54 
��<!� "�.����!���3���� 726 <!� (<���	4�� 7) 
  ������"�8�4�
��?�'���4�� 2 (M2) ���4E����F$.<6�	 K �'6���������'��� M1 43�
������4E���#�
�<#
?����F$.�:�� K �'6� �3�������<6�<!� ��.���
������ 5����4���	��	��B 
   
  2.1 ���
�� !���"��#$��%�$�#�!�5��67��������������� M2    
 
  �"����I��<����
	��>�	�
�������������'��� M2 ���6��"����I��<����
	��>�	'��
�����
 
��6�
8	4��
�� 77.50 
6���
���4��7�!���<!� M1 4��56����������	
�4���.�����	
� 25, 35, 45 ��. 
50 Krad 
��"����I��<����
	�� 59.38, 47.09, 72.83 ��. 72.30 <�
�3���� (<���	4�� 7) 
  
��
�$��� 7 �3�����
���4��"�8� �3����<!�4��	�� �"����I��<����
	���
:������ 7 ���=��	"�8� >�	

������������������� � 
�. 4��56����������	
�"�#
�$<6�	 K ?�'��� M2   
�.�����	
�( Krad ) �3�����
���4��"�8� �3����<!�4��	�� �"����I��<����
	�� 

0 ('�������
) 40 32 77.50 
25 256 152 59.38 
35 172 81 47.09 
45 184 134 72.83 
50 491 355 72.30 
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  2.2 
-�-����.���
������  
 
  �������������'��� M2 4��"�8�4�B	
#B� 722 <!� ���6�
���	<!�7
6
�
���������7�! 
��:��	���<!����.��.�"]�D��?���.���=	#� 
��=<��6��.��#����7���
4��
��
�	�"]���=. 
�3����<!�>�	'�������
4��
�
���������
�����	�3���� 5 <!� ������"�8� 40 <!� 
6��<!�4��
56����������	
�4���.�����	
� 25, 35, 45 ��. 50 Krad 
��3����<!�4��
�
���������7�! 12, 28, 22 
��. 128 <!� <�
�3���� (<���	4�� 8) 
6��<!�4��7
6
�
���������7�!?�'��� M2 
��3����4�B	
#B� 532 
<!� �#��"]� 73.68 % >�	�3����<!�4�B	=
�?�'����8� M2 (<���	4�� 10) 

�6��������.�.����?����������>�	����������'��� M 2 >�	'�������
 ��.<!�4��
56����������	
��.��� 25, 35, 45 ��. 50 Krad 
��6� 63, 64, 61, 61 ��. 54 ��� <�
�3���� (<���	4�� 
8) D�����6�<!�4������������4��
���:�<!�?����6
4��56����������	
� 50 Krad �:��.�.����������
����	 47 ����46���B� �
:���#���$����
�<�<6�	>�	�.�.����?����������4���<�<6�	���?����6

<!�����������4��56����������	
�?�'��� M2 �"�����4�������6�������>�	�.�.����?����������>�	
����������'�������
 ���6����
�<�<6�	>�	�.�.����?����������
������.���<��7
6"�<# 

6��?=@6
��.�.��������������!����6��6�������>�	<!�'�������
 (�8"4�� 14)  
 
��
�$��� 8  �3����<!�4��<#���� �6��������.�.����?���������� ��.�6������	���
�<�_�� >�	

������������������� � 
�. 4��56����������	
�"�#
�$<6�	 K ���?�'��� M2 
�.�����	
� ( Krad ) �3����<!�4��<#���� �.�.����?���������� ± �6������	���
�<�_�� 

 �3����<!� �"����I��<� (���) 

0 ('�������
) 5 15.63 63 ± 6 

   (54 � 69)  1/ 

25 12 7.89 64 ± 7 
(52 � 74) 

35 28 34.57 61 ± 7 
(49 � 70) 

45 22 16.42 61 ± 7 
(48 � 71) 

50 128 36.06 54 ± 5  
(47 � 75) 

1/ �6�<�3�
�� � �6�
8	
�� 
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&#3,
��
�3�$ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22


-�-�������,
������������5��67�"�� = #�.

)*�
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No
rm
al 
Di
str
ib
ut
ion

������,���3�$ ������&#3,���3�$ Normal Distribution  

����� 14 �����.���<�����
�<�<6�	>�	�.�.�������������>�	����������4��56����������	
�

?�'��� M2 �"�����4�������.�.�������������>�	'�������
 
 

2.3 )*��������3����,�-"��#������  
 
  ?����"�8�����������'��� M2 ���6��3����<!����'�������
4��
�
����������������
7�!
�����	 5 <!� 
6��<!�4��56����������	
�4���.��� 25, 35, 45 ��. 50 Krad 
��3����<!�4��
�
���
�������������7�! 1, 5, 1 ��. 65 <!� <�
�3���� (<���	4�� 9) 
  �6��������3�������<6�<!�>�	����������'��� M2 >�	'�������
 ��.<!�4��56�����
�����	
��.��� 25, 35, 45 ��. 50 Krad 
��6� 7, 1, 1, 1 ��. 5 ���<6�<!� <�
�3���� (<���	4�� 9) D��
���6�<!�4��
��3�������<6�<!�
��4��
���:�<!�?����6
4��56����������	
� 50 Krad 
��3������� 40 ���
<6�<!� �
:���3��3����<!�4��
��3�������<6�<!�?����6
<!�����������4��56����������	
��.���<6�	 K ?�
'��� M2 
��"�����4�������6��������3�������<6�<!�>�	'�������
 ���6����
�<�<6�	>�	�3����
���<6�<!�>�	<!�����������4��56����������	
����'�������
 
������.���<��7
6"�<# (�8"4�� 15)  
  �6����������
������>�	����������'��� M2 >�	'�������
 ��.<!�4��56��������
��	
��.��� 25, 35, 45 ��. 50 Krad 
��6� 40.3, 48.0, 46.0, 52.3 ��. 40.7 �I�<#�
<� <�
�3���� 
(<���	4�� 9) D�����6�<!�4��
��6����������
������<6�<!�
��4��
���:�<!�?����6
4��56����������	
� 
50 Krad 
��6����������
������ 69.6 �I�<#�
<�  �
:���3��3����<!�?����6
<!�����������4��56�����
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�����	
��.���<6�	 K ?�'��� M2 
��"�����4�������6����������
������>�	'�������
 ���6����

������>�	<!�����������4��56����������	
�
������.���<��7
6"�<# ��	�
�	?��8"4�� 16  
 
��
�$��� 9  �3����<!�4������������ �6���������.�6������	���
�<�_��>�	�3�������<6�<!� ��.���


������>�	������������������� � 
�. 4��56����������	
�"�#
�$<6�	 K ���?�'��� M2 
�.�����	
� (Krad) <!�4��
�
������������� �3����<!� ± �6������	���
�<�_�� 

 �3����<!� �"����I��<� �3�������<6�<!� ���
������ (I
.) 
0 ( '�������
 ) 5 15.63 7 ± 2 

   (3 � 9) 1/ 
40.3 ± 1.2 

  (38.7 � 41.9) 1/ 
25 1 0.66 1 

 
48.0 

35 5 6.17 1 ± 1 
(1 � 3) 

46.0 ± 14.7 
(25.3 � 60.1) 

45 1 0.75 1 
 

52.3 

50 65 18.31 5 ± 4  
(1 � 40) 

40.7 ± 11.2  
(22.8 � 69.6) 

1/ �6�<�3�
�� � �6�
8	
��  
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����� 16 �����.���<�����
�<�<6�	>�	���
������>�	����������4��56����������	
�?�'��� M2 

�"�����4���������
������>�	'�������
 
 
  2.4 ���
���
����5��67� ,�-���12-�+����+  
 
  ������
�	��<�!��
��<� ��<!�4��
����F$.�"]�<!����.�3���� 2 <!� (�8"4�� 17) 
������6
<!�4��56����������	
� 50 Krad ?�'��� M1 (?'!
�@���F$� PSU50 � 001) ����3����<!�?�
'��� M 2 �3���� 722 <!� ��<���������������>�	���F$.<!����.�46���� 0.28 % (<���	4�� 10) �
:��
�4������<!�?�'����8� M2 4�B	=
� IE�	<!���	��6����B7
6
�
���������7�! ��6�	7���<�
<!� PSU50 
� 001 ?�'��� M1 
����F$.?�?=@6 5�5�#<�� ���
�>������ ��.���������� (42 ���=��	"�8�)  

<!�4��
�
���<#�����<67
6<#����
��3���� 118 <!� �#��"]� 16.34 % ��.<!�4��<#�
����<67
6<#��
���
��3���� 25 <!� �
:���3���$��<���������������>�	���F$.���
�����<67
6<#�
�
����46���� 3.46 % �
:���#��4������<!�?�'��� M2 4�B	=
� (<���	4�� 10) 
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��
�$��� 10 �"����I��<�<!�5#�"�<# ?����F$.<!����. ���F$.�"]�=
����:��	���7
6
����
�!�	
��� 
����
�!�	����<67
6<#���� ��.<#�����<67
6
��
��� >�	������������������� � 
�. 
4��56����������	
�"�#
�$<6�	 K ��� ?�'��� M2   

<!��"]�=
�� 
'�#�>�	���5#�"�<# �3����<!� <!����. 7
6
����
�!�	

��� 

�����<67
6<#���� <#�����<6��� 

7
6<#��
��� 
�3����<!� 722 2 532 118 25 

               25 Krad      152      0      140      11      0 
               35 Krad      81      0      53      23      1 
               45 Krad      134      0      112      21      1 
               50 Krad      355      2      227      63      23 

�"����I��<�<!�5#�"�<# 
(4�B	=
�) 

 0.28 73.68 16.34 3.46 

 

 

����� 17 ���F$.<!����.?�'���4�� 2 (M2) 4����?�<!�����������4��56����������	
�4���.��� 50 Krad 
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3. ��
�������������������������� M3  
 
  �
���4������������7�!���<!� M2 
��3���� 47 <!� (
��<!�) ���4�B	=
� 722 <!� 
��:��	���<!�
6��?=@67
6
�
��������� 
�
��������������
���7�! 1,666 �
��� "�.����!��
�.�����	
� 25, 35 ��. 50 Krad �3���� 6, 43 ��. 1,617 �
��� <�
�3���� 
6��<!�4��56��������
��	
� 45 Krad 7
6
�
��������������
���7�! �3��
���4�B	=
�
�"�8�4�
�� $ �"�	4���	 
����
�#������	=��D>6	 �$.4����������
'�<# 
=��#4�����
	>�����#�4�� �3��9����	=��D>6	 
��	=���
	>�� �
:�����4�� 17 ������� 2548 ��.
#B�
�����"�8�4�
��?����4�� 31 ������
 2548 
D��"�8����<!�<6���� ?'!�.�.�.=�6�	<!� 50 �I�<#�
<� ���6��
���
���<�����	���6��>!�	<�3� 
��	�
���7
6
�
���	��7�! 43�?=!�3����
��<!���#�
<!�?�'��� M3 
�4�B	
#B� 35 
��<!� "�.����!��
�3����<!�4�B	=
� 269 <!� (<���	4�� 11) 

������"�8�4�
��?�'���4�� 3 (M3) ���4E����F$.<6�	 K �'6���������'��� M2 IE�	
"���f5����4���	��	��B 
 
  3.1 ���
�� !���"��#$��%�$�#�!�5��67��������������� M 3  
 
  �"����I��<����
	��>�	�
�������������������'��� M3 ���6��"����I��<����
	��
>�	'�������
 
��6�
8	4��
�� 100.00 
6���
���4��7�!���<!� M 2 ?�
��<!�4��56����������	
�4���.��� 
25, 35 ��. 50 Krad 
��"����I��<����
	��<�3� D��
��"����I��<����
	�� 0, 32.56 ��. 15.77 
<�
�3���� (<���	4�� 11) 
 
��
�$��� 11 �3�����
���4��"�8� �3����<!�4��	�� ��.�"����I��<����
	���
:������ 7 ���=��	"�8� 

>�	������������������� � 
�. ?�'��� M3   
�.�����	
� ( Krad ) �3�����
���4��"�8� �3����<!�4��	�� ���
	�� (%) 

0 ('�������
) 44 44 100.00 
25 6 0 0.00 
35 43 14 32.56 
45 - - - 
50 1617 255 15.77 
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  3.2 
-�-����.���
������  
  
  �������������'��� M3 4��"�8�4�B	
#B� 269 <!� ���6� <!�'�������

�
���������
7�!4�B	=
� (44 <!�) 
6��<!�4��56����������	
�4���.��� 35 ��. 50 Krad 
��3����<!�4��
�
������
���7�! 17 ��. 221 <!�<�
�3���� <!�?�'�������
?'!���������� 46 ��� (42 � 55) 
3�=���������
��� 
6��<!�4��56����������	
��.��� 35 ��. 50 Krad 
��6��������.�.����?���������� 45 ��� 
(33 � 68) ��. 40 ��� (26 � 64) <�
�3���� (<���	4�� 12) ?����6
<!�����������4��56����������	
�
�.��� 50 Krad  
�<!�4��7
6
�
���������7�!�3���� 31 <!� �#��"]� 11.52 % >�	<!�?�'��� M3 
4�B	=
� (<���	4�� 14) 

�
:���3��3����<!�4��
��.�.����?�����������<�<6�	���?����6
<!�����������4��
56����������	
�?�'��� M3 
��"�����4�������6�������>�	�.�.����?����������>�	'�������
 
���6����
�<�<6�	>�	�.�.�������������>�	<!�����������4��56����������	
����'�������
 
(�8"4�� 18) 
 
��
�$��� 12 �6������� ��.�6������	���
�<�_�� >�	������������������� � 
�. 4��56����������	
�

"�#
�$<6�	 K ���?�'��� M3   
�.�����	
� ( Krad ) �3����<!�4��<#���� �.�.����?���������� ± �6������	���
�<�_�� (���) 

0 ('�������
) 44 46 ± 3 
   (42 � 55) 1/ 

25 0 - 

35 17 45 ± 12 
(33 � 68) 

45 - - 

50 221 40 ± 7  
(26 � 64) 

1/ �6�<�3�
�� � �6�
8	
�� 

 



 35 

0

5

10

15

20

25

-17 -16 -15 -14 -13 -12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2 -1

&#3,
��
�3�$ 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22


-�-�������,
������������5��67�"�� = #�.

)*�
��
��
��

0.000

0.005

0.010

0.015

0.020

0.025

0.030

0.035

0.040

0.045

0.050

0.055

No
rm
al 
Di
str
ib
ut
ion

������,���3�$ ������&#3,���3�$ Normal Distribution  

����� 18 �����.���<�����
�<�<6�	>�	�.�.�������������>�	����������4��56����������	
�

?�'��� M3 �"�����4�������.�.�������������>�	'�������
 
 
 
  3.3 )*��������3���� ,�-"��#������  
 
  ?����"�8�����������'��� M3 ���6�<!�4��56����������	
�4���.��� 35 ��. 50 Krad 

��3����<!�4��
�
����������������7�! 13 ��. 199 <!� <�
�3���� ?�>$.4��'�������
4��<!�

�
����������������7�! �6��������3�������<6�<!�>�	'�������
�46���� 25 ��� (19 � 32) 
6��<!�4��
56����������	
��.��� 35 ��. 50 Krad 
��6� 20 ��� (1 � 39) ��. 30 ��� (1 � 91) <�
�3���� (<���	
4�� 13) D�����6�<!�4��
��3�������<6�<!�
��4��
���:�<!�?����6
4��56����������	
� 50 Krad 
�
�3������� 91 ���<6�<!� �
:���3��3����<!�4��
��3�������<6�<!�?����6
<!�����������4��56��������
��	
��.���<6�	 K ?�'��� M 3 
��"�����4�������6��������3�������<6�<!�>�	'�������
 ���6����

�<�<6�	>�	�3�������<6�<!�>�	<!�����������4��56����������	
����'�������
 
������.���<��
"�<# (�8"4�� 19) 
  �6����������
������>�	����������>�	'�������
 ��.<!�4��56����������	
��.��� 
35 ��. 50 Krad 
��6� 41.3 �I�<#�
<� (38.7 � 42.9), 52.2 �I�<#�
<� (39.4 � 58.8) ��. 60.6 
�I�<#�
<� (32.3 � 88.6) <�
�3���� (<���	4�� 13) D�����6�<!�4��
��6����������
������<6�<!�
��
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4��
���:�<!�?����6
4��56����������	
� 50 Krad �'6����  �
:���3��3����<!�4��
����
������?����6
4��
56����������	
��.���<6�	 K ?�'��� M3 
��"�����4�������6����������
������>�	'�������
 ���6�
���
�<�<6�	>�	���
������>�	<!�����������4��56����������	
��.��� 35 ��. 50 Krad ���'��
�����
 ?�'��� M3 
������.���<��7
6"�<# (�8"4�� 20) 
 
��
�$��� 13  �6������� ��.�6������	���
�<�_�� >�	�3�������<6�<!� ��.���
������ >�	

������������������� � 
�. 4��56����������	
�"�#
�$<6�	 K ���?�'��� M3 
�6������� ± �6������	���
�<�_�� �.�����	
�  

(Krad) 
�3����<!�4������������ 

�3�������<6�<!� ���
������ (I
.) 
0 ('�������
) 44 25 ± 4 

   (19 � 32) 1/ 
41.3 ± 1.4 

(38.7 � 42.9) 
25 - - 

 
- 

35 13 20 ± 12 
(1 � 39) 

52.2 ± 6.4 
(39.4 � 58.8) 

45 - - 
 

- 

50 199 30 ± 18  
(1 � 91) 

60.6 ± 7.7  
(32.3 � 88.6) 

1/ �6�<�3�
�� � �6�
8	
�� 
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3.4  ���12-�+����+  
 
���<!�4���������������7�! 212 <!� (7
6��
<!�?�'�������
) ��<!�4�����7
6<#��
���

�3���� 15 <!� �"]�<!�4��
��������������4��56����������	
� 35 ��. 50 Krad �3���� 4 ��. 11 <!� 
<�
�3���� (<���	4�� 14) 

������
�	��<�!��
��<� ��<!�4��
����F$.���.�3���� 22 <!� ���F$.<!����.
4���� 
�
�����6	����"]� 2 ���F$.�:� 1. ���F$.<!����.�"]���6
 (�8"4�� 21) ��. 2. ���F$.<!�
���.�E�	��:B�� (�8"4�� 22) ��.��	��<!�4��
�?�����3���� 2 <!� ?�
��<!�����������4��56��������
��	
��.��� 50 Krad ��������B��	��<!�4��?=!������F$.=�	=�84�B	<!��3���� 51 <!� IE�	���F$.4��
7
6<!�	����"]����F$.7
6��>�	���������� ��.�����86?�����������4��56����������	
��.��� 35 ��. 
50 Krad D����6	�"]� 35 Krad �3���� 3 <!� ��. 50 Krad �3���� 48 <!� (<���	4�� 14) 

 
��
�$��� 14 �"����I��<�<!�4��5#�"�<# ?����F$.<!����. ���F$.�"]�=
�� ��:��	���7
6
����
�!�	

��� 
����
�!�	����<6���7
6<#���� <#�����<67
6<#��
��� ��.���F$.���7
6<!�	���
>�	������������������� � 
�. 4��56����������	
�"�#
�$<6�	 K ��� ?�'��� M3  

<!��"]�=
�� 
'�#�>�	��� 

5#�"�<# 
�3����<!� <!����. 7
6
�!�	��� 
�!�	����<6

7
6
���� 
���7
6<#�

�
��� 

���F$.���
7
6<!�	��� 

�3����<!� 269 22 31 26 15 51 
25 Krad - - - - - - 
35 Krad 14 0 0 4 4 3 
45 Krad - - - - - - 
50 Krad 255 22 31 22 11 48 

�"����I��<�<!� 
5#�"�<# (4�B	=
�) 

100 8.18 11.52 9.67 5.58 18.96 
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����� 21 ���F$.<!����.�����6
?�'���4�� 3 (M3) 4����?�<!�����������4��56����������	
�4���.��� 

50 Krad 
 

 

����� 22 ���F$.<!����.����E�	��:B��?�'���4�� 3 (M3) 4����?�<!�����������4��56����������	
�4��

�.��� 50 Krad  



 40 

3.5 ��
"����K��  
 
���������4E�>!�
8��"]����<!�?�����������'��� M3 4��"�8�4�B	
#B� 269 <!� 43����

�����:��4#B	<!�4��
����F$.���. ��.<!�4���"]�=
�� IE�	�"]����F$.4��
6	5�<6�5�5�#< ��
4�B	<!�4��
?=!������=�	=�84�B	<!�������"�.'��� ��	��B�"�.'���4����#�
<!�?���������:��
��3���� 197 
<!� �����B�43���������:��<!�4��
��.�.����?����������������6�'�������
 �3�������<6�<!�

����6�'�������
��6�	�!�� 20 % �6����������
������
����6� 50 �I�<#�
<� ��	��B�<!�4��56�����
�����:���.<!�	
����F$.��	��B 
��.�.�������������������6� 46 ��� 
��3�������<6�<!�
����6� 30 
���<6�<!� ��.���
������
��6� 50 �I�<#�
<�>EB�7" D�������:��7�!"�.
�$ 20 % >�	"�.'��� 

������F$.4��<�B	7�!?���:B�	<!�"���f�6�
��3����<!�4��56����������:�� 48 <!� IE�	

��3����
����6�<!�4��<!�	��� ��	��B��E	����7"�����:��?��.�.������������� D�������:��<!�
4��
��.�.�����������������4��
��7�! 39 <!� 
�<!�4��56����������:����	�
�	?�<���	4�� 15  
 
��
�$��� 15 <!�����������4��56����������:�� ������6
"�.'���4��56����������	
�D����;�����F$.

�.�.����?���������� �3�������<6�<!� ��.���
�������"]���$g� 
�3���� =
����>
��<!� �.�.����?���������� (���) �3�������<6�<!� ���
������ (I
.) 

1 PSU50 � 003 � 001 � 006 30 64 58.4 
2 PSU50 � 005 � 004 � 002 30 32 60.4 
3 PSU50 � 003 � 009 � 004 31 38 63.1 
4 PSU50 � 001 � 009 � 079  32 43 65.0 
5 PSU50 � 001 � 009 � 081 32 36 72.2 
6 PSU50 � 003 � 036 � 021 32 30 57.4 
7 PSU50 � 005 � 018 � 006 32 40 54.4 
8 PSU35 � 032 � 008 � 001 33 46 57.9 
9 PSU50 � 001 � 009 � 055 34 44 63.3 
10 PSU50 � 002 � 012 � 002 34 33 64.9 
11 PSU50 � 003 � 002 � 004 34 59 55.9 
12 PSU50 � 003 � 036 � 023 34 33 60.8 
13 PSU50 � 001 � 009 � 013 35 30 55.6 
14 PSU50 � 001 � 009 � 035 35 56 63.0 
15 PSU50 � 003-012 � 001 35 53 58.1 
16 PSU50 � 003 � 012 � 011 35 73 64.0 
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��
�$��� 15 (�3�)  
�3���� =
����>
��<!� �.�.����?���������� (���) �3�������<6�<!� ���
������ (I
.) 

17 PSU50 � 003 � 036 � 001 35 33 63.1 
18 PSU50 � 003 � 036 � 003 35 57 58.8 
19 PSU50 � 003 � 036 � 017 35 50 68.9 
20 PSU50 � 001 � 009 � 015 36 55 67.0 
21 PSU50 � 001 � 009 � 059 36 63 60.0 
22 PSU50 � 001 � 009 � 088 36 39 63.6 
23 PSU50 � 002 � 012 � 005 36 49 70.3 
24 PSU50 � 001 � 009 � 033 37 40 61.3 
25 PSU50 � 001 � 009 � 078 37 38 62.3 
26 PSU50 � 002 � 012 � 003 37 62 63.3 
27 PSU50 � 003 � 036 � 027 37 74 60.5 
28 PSU50 � 005 � 004 � 001 37 46 64.1 
29 PSU50 � 005 � 004 � 005 37 59 62.3 
30 PSU50 � 001 � 009 � 002 38 31 68.3 
31 PSU50 � 001 � 009 � 036 38 42 64.9 
32 PSU50 � 001 � 009 � 077 38 40 60.9 
33 PSU50 � 001 � 009 � 087 38 30 69.7 
34 PSU50 � 003 � 036 � 002 38 37 62.1 
35 PSU50 � 003 � 036 � 014 38 30 62.9 
36 PSU50 � 001 � 006 � 002 39 40 67.6 
37 PSU50 � 001 � 009 � 009 39 45 68.5 
38 PSU50 � 001 � 009 � 029 39 44 72.2 
39 PSU50 � 001 � 009 � 050 39 54 69.1 
40 ��������� � 
�. 46 25 41.3 

 
  <!�����������4��56����������:�� "�.����!��<!�����������4��56����������	
� 35 
��. 50 Krad �3���� 1 ��. 38 <!� <�
�3����   
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4. ��
�������������������������� M4  
 

�
���������4������������7�!���'��� M3 ���<!�4��56����������:�� 39 <!� (
��<!�) ��.
"�8��"�����4��������������� � 
�. ('�������
) D��"�8�4�
�� $ �"�	4���	�$.
4����������
'�<# 
=��#4�����
	>�����#�4�� �#4���><=��?=@6 �3��9�=��?=@6 ��	=���

	>�� �.=�6�	���4�� 28 ��
9������ 2549 ��.
#B�
�����"�8�4�
��?����4�� 30 �hF9��
 2549 
?'!�.�."�8�<6�<!� 50 �I�<#�
<� ��.�.�.�.=�6�	��� 50 �I�<#�
<� ���6��
���
��"����I��<�
���
	���6��>!�	<�3� ��:��	���?�'6�	4�������������
���
���<� 

���5����4�
��?�'���4�� 4 (M4) ���4E����F$.<6�	 K �'6���������'��� M3 43����
���4E���#�
�<#
?����F$.5�5�#<<6�<!� ��.5�5�#<<6�
��<!� "���f5����4���	��	��B 
 
  4.1 ���
�� !���"��#$��%�$�#�!�5��67��������������� M4  

 
  �"����I��<����
	��>�	�
�������������������'��� M4 ���6��"����I��<����
	��
>�	'�������

��6� 65.00 
6���
���4��7�!���<!� M3 ?�
��<!�4��56����������:��
��"����I��<����

	��<�3�4��
�� 37.50 (PSU50-001-006-002) ��.
8	4��
�� 92.50 (PSU50-003-036-003) (<���	4�� 16) 
 
��
�$��� 16 �"����I��<����
	��>�	���������� 39 
��<!� ?�'��� M4  

=
����>
��<!� �"����I��<����
	��  

PSU50-001-006-002 37.50 

PSU50-001-009-009 40.00 

PSU50-003-012-001 47.50 

PSU50-001-009-035 57.50 

PSU50-005-004-002 57.50 

PSU50-003-036-002 60.00 

PSU50-001-009-036 62.50 

PSU50-001-009-079 62.50 

PSU50-001-009-088 62.50 

PSU50-001-009-078 67.50 

PSU50-001-009-081 67.50 
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��
�$��� 16 (�3�)  
=
����>
��<!� �"����I��<����
	��  

PSU50-003-036-017 67.50 

PSU50-003-036-023 67.50 

PSU50-001-009-015 70.00 

PSU50-001-009-059 70.00 

PSU50-005-018-006 70.00 

PSU35-032-008-001 72.50 

PSU50-003-036-001 72.50 

PSU50-001-009-013 75.00 

PSU50-002-012-005 75.00 

PSU50-003-009-004 75.00 

PSU50-003-012-011 75.00 

PSU50-001-009-050 77.50 

PSU50-002-012-002 80.00 

PSU50-002-012-003 80.00 

PSU50-003-036-027 80.00 

PSU50-001-009-029 82.50 

PSU50-003-001-006 82.50 

PSU50-003-002-004 82.50 

 
4.2 
-�-����.���
������ 

 
  ?����"�8�4�
������������'��� M4 "�.����!��
��<!�4��56����������:�����
'���4�� 3 �3���� 39 
��<!� �3���� 1560 �
��� ��.��������� � 
�. ('�������
) ���6��6�������
�.�.����?��������������4��
�� 46 ��� (PSU50-003-036-002) ��.'!�4��
�� 54 ��� (PSU50-001-
009-077) �
:���#���$��E	�.�.����?����������>�	�<6�.<!����6� �.�.����?����������4��
����4��
�� 24 ��� (
��<!� 50-003-036-002) ��.4��'!�4��
�� 64 ��� (
��<!� 50-003-001-006) 
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��
�$��� 17 �3����<!�4�������� ��.�6��������.�.����?����������>�	���������� 39 
��<!� 
?�'��� M4 ��.��������� � 
�.  

=
����>
��<!� �3����<!�4�������� �.�.����?���������� ± �6������	���
�<�_�� (���) 

PSU50-003-036-002 22 46 ± 7.31 
(24 � 57) 1/ 

PSU50-005-004-001 33 47 ± 3.56 
(40 � 56) 

PSU35-032-008-001 20 47 ± 5.73 
(54 � 33) 

PSU50-001-006-002 15 47 ± 5.98 
(29 � 55) 

PSU50-003-012-001 24 48 ± 3.39 
(41 � 58) 

PSU50-005-004-005 31 48 ± 3.98 
(40 � 56) 

PSU50-001-009-087 15 48 ± 4.83 
(39 � 56) 

PSU50-003-036-027 28 49 ± 3.65 
(44 � 57) 

PSU50-003-036-003 27 49 ± 4.54 
(36 � 59) 

PSU50-003-036-014 16 49 ± 5.73 
(42 � 62) 

PSU50-001-009-033 19 50 ± 3.20 
(42 � 57) 

PSU50-003-012-011 25 50 ± 3.50 
(40 � 55) 

PSU50-001-009-029 13 50 ± 4.53 
(42 � 58) 

PSU50-003-036-021 35 50 ± 4.70 
(40 � 61) 

PSU50-003-036-001 16 50 ± 4.98 
(41 � 57) 
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��
�$��� 17 (�3�)  
=
����>
��<!� �3����<!�4�������� �.�.����?���������� ± �6������	���
�<�_�� (���) 

PSU50-001-009-055 31 50 ± 4.99 
(36 � 59) 

PSU50-002-012-005 24 52 ± 5.06 
(43 � 61) 

PSU50-001-009-035 17 52 ± 5.19 
(40 � 59) 

PSU50-001-009-036 17 52 ± 5.40 
(41 � 61) 

PSU50-001-009-079 9 53 ± 4.27 
(46 � 59) 

PSU50-001-009-078 16 53 ± 3.49 
(44 � 60) 

PSU50-002-012-002 26 53 ± 4.49 
(45 � 61) 

PSU50-001-009-013 19 53 ± 4.62 
(43 � 60) 

PSU50-003-036-017 17 53 ± 5.01 
(44 � 63) 

PSU50-003-001-006 26 53 ± 5.80 
(41 � 64) 

PSU50-001-009-081 14 53 ± 7.66 
(33 � 62) 

PSU50-001-009-077 28 54 ± 4.11 
(42 � 62) 

��������� � 
�. 19 53 ± 5.94 
(40 � 62) 

1/ �6�<�3�
�� � �6�
8	
�� 
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  4.3 )*��������3����  "��#������  �N*�O������,�-����+��3���� 
 
  ?����"�8�����������'��� M4 ���6�<!�4��56����������	
�
��6��������3�������<6�<!� 
2 � 9 ��� ?�>$.4��'�������
4��<!�
�
����������������7�! 5 ��� <�
�3���� (<���	4�� 18) D��
���6�<!�4��
��6��������3�������<6�<!�
��4��
���:�
��<!� PSU50-005-004-002 
��3������� 6 ���
<6�<!� ��.
��<!�4��
��6��������3�������<6�<!��!��4��
���:� PSU50-001-009-081 PSU50-003-002-
004 ��. PSU50-003-036-001 
��3���� 2 ���<6�<!� 

�6����������
������>�	����������>�	'�������
 
��6� 37.9 �I�<#�
<� ��.<!�4��
56����������	
�
��6����������
������<6�<!�
��4��
���:�
��<!� PSU50-001-009-013 (72.5 
�I�<#�
<�) ��.
��<!�4��
��6����������
������<6�<!��!��4��
���:� PSU50-003-001-006 (51.0 
�I�<#�
<�) (<���	4�� 18) 

�6��������B3�=������<6�<!�>�	����������>�	'�������
 
��6� 23.1543 ���
 ��.<!�
4��56����������	
�
��6��������B3�=������<6�<!�
��4��
���:�
��<!� PSU50-001-009-081 (40.3483 
���
) ��.
��<!�4��
��6��������B3�=������<6�<!��!��4��
���:� PSU50-001-009-029 (20.1465 ���
) 
(<���	4�� 18) 

�6��������B3�=���5�5�#<<6�<!�>�	����������>�	'�������
 
��6� 115.7715 ���
 
<!�4��56����������	
� ���6�<!�4��
��B3�=���5�5�#<<6�<!�
��4��
���:�
��<!� PSU50-003-036-021 
(267.6373 ���
) ��.
��<!�4��
��B3�=���5�5�#<<6�<!��!��4��
���:� PSU50-003-002-004 (35.1962 
���
) (<���	4�� 18) 
 
��
�$��� 18  �6��������3�������<6�<!� ��.���
������>�	���������� 39 
��<!�?�'��� M4 ��.������

��� � 
�.  
�3�������<6�<!� ���
������ (I
.) �B3�=������ �B3�=���5�5�#<<6�<!� =
����>
��<!� 

�6������� ± �6������	���
�<�_�� (���
) (���
) 

PSU35 � 032 � 008 � 001 3 ± 2 
   (1 � 5) 1/ 

59.3 ± 11.5 
   (46.3 � 72.3) 1/ 

29.1654  87.4962 

PSU50 � 001 � 006 � 002 5 ± 2 
(3 � 7) 

54.5 ± 14.7 
(25.4 � 78.8) 

25.4431  116.3113 

PSU50 � 001 � 009 � 002 5 ± 3 
(1 � 7) 

56.8 ± 9.3 
(45.8 � 65.4) 

23.6487  118.2435 

PSU50 � 001 � 009 � 009 3 ± 0 
(3 � 3) 

60.0 ± 9.1 
(45.1� 61.4) 

30.1355  90.4065 
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��
�$��� 18 (�3�)  
�3�������<6�<!� ���
������ (I
.) �B3�=������ �B3�=���5�5�#<<6�<!� =
����>
��<!� 

�6������� ± �6������	���
�<�_�� (���
) (���
) 

PSU50 � 001 � 009 � 013 3 ± 0 
(3 � 3) 

72.5 ± 7.2 
(64.3 � 77.8) 

33.5467  100.6401 

PSU50 � 001 � 009 � 015 4 ± 5 
(1 � 6) 

63.0 ± 6.5 
(54.6 � 72.4) 

30.1035  120.4140 

PSU50 � 001 � 009 � 029 4 ± 4 
(2 � 10) 

51.5 ± 7.6 
(39.5 � 62.3) 

20.1465  80.5860 

PSU50 � 001 � 009 � 036 3 ± 4 
(2 � 8) 

56.3 ± 6.6 
(45.3 � 63.2) 

27.3468  82.0404 

PSU50 � 001 � 009 � 059 4 ± 3 
(3 � 9) 

60.5 ± 7.9 
(50.3 � 69.5) 

27.4351  109.7404 

PSU50 � 001 � 009 � 077 6 ± 3 
(3 � 10) 

64.6 ± 10.9 
(36.9 � 78.4) 

36.1437  202.4047 

PSU50 � 001 � 009 � 078 6 ± 6 
(2 � 15) 

63.3 ± 14.3 
(28.7 � 84.3) 

30.1485  173.3539 

PSU50 � 001 � 009 � 079 3 ± 2 
(1 � 8) 

64.1 ± 12.3 
(30.5 � 79.5) 

28.4154  85.2462 

PSU50 � 001 � 009 � 081 2 ± 0 
(2 � 2) 

73.4 ± 6.0 
(69.1 � 77.6) 

40.3483  80.6966 

PSU50 � 001 � 009 � 087 4 ± 0 
(4 � 4) 

59.3 ± 4.8 
(54.3 � 64.3) 

24.1573  96.6292 

PSU50 � 001 � 009 � 088 3 ± 2 
(1 � 5) 

57.6 ± 5.5 
(51.0 � 64.1) 

25.4781  76.4343 

PSU50 � 002 � 012 � 002 3 ± 2 
(1 � 5) 

65.9 ± 8.0 
(50.4 � 77.6) 

29.4685  98.2283 

PSU50 � 002 � 012 � 003 4 ± 2 
(2 � 7) 

61.2 ± 6.5 
(52.3 � 70.3) 

27.3445  109.3780 

PSU50 � 002 � 012 � 005 6 ± 6 
(2 � 20) 

61.5 ± 10.4 
(31.1 � 86.1) 

27.4554  175.0282 

PSU50 � 003 � 001 � 006 3 ± 2 
(1 � 6) 

51.0 ± 15.4 
(17.0 � 69.5) 

28.1541  88.4843 

PSU50 � 003 � 002 � 004 2 ± 1 
(1 � 2) 

56.7 ± 16 
(37.4 � 75.1) 

23.4641  35.1962 
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��
�$��� 18 (�3�)  
�3�������<6�<!� ���
������ (I
.) �B3�=������ �B3�=���5�5�#<<6�<!� =
����>
��<!� 

�6������� ± �6������	���
�<�_�� (���
) (���
) 

PSU50 � 003 � 009 � 004 3 ± 2 
(1 � 6) 

64.9 ± 1.9 
(63.2 � 68.3) 

31.5451  94.6353 

PSU50 � 003 � 012 � 001 5 ± 3 
(1 � 10) 

57.4 ± 12.9 
(22.6 � 77.5) 

29.1454 134.7975 

PSU50 � 003 � 012 � 011 7 ± 2 
(1 � 10) 

59.6 ± 10.7 
(39.3 � 79.2) 

30.1554  211.0878 

PSU50 � 003 � 036 � 001 2 ± 3 
(1 � 7) 

63.6 ± 3.6 
(58.9 � 69.8) 

27.1645 54.3290 

PSU50 � 003 � 036 � 003 4 ± 3 
(1 � 7) 

66.0 ± 7.4 
(77.7 � 52.1) 

29.4154  102.9539 

PSU50 � 003 � 036 � 014 3 ± 4 
(2 � 9) 

58.3 ± 9.5 
(45.8 � 70.2) 

28.1654  84.4962 

PSU50 � 003 � 036 � 017 4 ± 4 
(1 � 10) 

60.9 ± 15.1 
(18.0 � 70.5) 

28.1554  118.2527 

PSU50 � 003 � 036 � 021 9 ± 8 
(1 � 27) 

52.8 ± 11.9 
(19.6 � 77.1) 

30.0154  267.6373 

PSU50 � 003 � 036 � 023 3 ± 1 
(2 � 3) 

61.3 ± 17.8 
(37.3 � 78.7) 

30.6544  76.6360 

PSU50 � 003 � 036 � 027 8 ± 5 
(1 � 16) 

59.1 ± 13.0 
(18.1 � 82.1) 

30.1451  237.3927 

PSU50 � 005 � 004 � 001 6 ± 5 
(2 � 17) 

57.6 ± 14.0 
(13.7 � 83.2) 

30.1546  192.9894 

PSU50 � 005 � 004 � 002 6 ± 6 
(2 � 17) 

55.2 ± 10.0 
(31.7 � 72.3) 

30.5545  195.5488 

PSU50 � 005 � 004 � 005 3 ± 0 
(3 � 3) 

59.0 ± 3.8 
(55.6 � 63.1) 

29.1266  87.3798 

PSU50 � 005 � 018 � 006 4 ± 4 
(1 � 9) 

60.2 ± 7.1 
(46.1 � 68.1) 

30.1546  120.6184 

��������� � 
�.  5 ± 4 
(2 � 10) 

37.9 ± 15.3 
(18.5 � 61.2) 

23.1543  115.7715 

1/ <�3�4��
�� � 
8	4��
�� 
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  4.4 ���12-�+����+  
 

������
�	��<�!��
��<� ��<!�4��
����F$.�"]�<!����.�3���� 12 
��<!� ��	
<���	4�� 19 ���F$.<!����.4���� 
�
�����6	����"]� 2 ���F$.�:� 1. ���F$.<!����.�"]���6
 
��. 2. ���F$.<!����.�E�	��:B�� ��������B��	�����F$.<!�7
6
���� ��	��B�?���������:�� �E	���
<!�4��
����F$.<!�7
6
����������"�.'��� ��.��<!����
����F$.����3���� 1 <!� ?�
��<!� 
PSU50 � 003 � 001 � 006 (�8"4�� 23) 
 
��
�$��� 19  <!�4��5#�"�<#>�	����������?�'��� M4  

���F$.5#�"�<# �3����<!� �"����I��<� 
1. <!����.   

PSU50 � 001 � 006 � 002 3 20.00 
PSU50 � 001 � 009 � 009 7 43.75 
PSU50 � 001 � 009 � 029 3 9.09 
PSU50 � 001 � 009 � 033 2 5.71 
PSU50 � 001 � 009 � 035 5 21.74 
PSU50 � 001 � 009 � 036 1 4.00 
PSU50 � 001 � 009 � 050 5 16.67 
PSU50 � 001 � 009 � 059 5 31.25 
PSU50 � 001 � 009 � 079 3 12.00 
PSU50 � 001 � 009 � 081 7 25.93 
PSU50 � 001 � 009 � 087  3 11.11 
PSU50 � 001 � 009 � 088 3 12.00 

2. ������   
PSU50 � 003 � 001 � 006 1 3.03 
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����� 23 ���F$.������?�
��<!� PSU50 � 003 � 001 � 006 
 

4.5 ��
"����K��  
 
  ?���������:���.�#���$���:��
��<!�4��7
6
����F$.<!����."���f��86 43�?=!

��<!�4��56����������:�� 27 
��<!� �����B������:��
��<!�4��
����F$.�������������������6� 52 
��� IE�	
��3���� 13 
��<!� �
:���#���$��6����������
������ ���6�
��<!�4��56����������:�� 13 
��
<!� 
��6����������
������
����6��6����������
������>�	��������� � 
�. ��	��B��E	�����:��
��<!�4��

��6��������3�������<6�<!�
8	4��
��7�! 4 
��<!� (10 % >�	���6
"�.'���) �����B������:��<!�4��
�
���F$.��?�
��<!�4��56����������:��7�! 15 <!� ��	<���	4�� 20 
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��
�$��� 20 �.�.���������� ���
������ �3�������<6�<!� �B3�=������ ��.5�5�#<<6�<!�>�	<!�
����������4��56����������:��?�'��� M4 ��.��������� � 
�.  

=
����><!� ����������
��� (���) 

���
������ 
(I
.) 

�3���� 
���<6�<!� 

�B3�=������ 
(���
) 

5�5�#<<6�
<!� (���
) 

PSU50 � 003 � 012 � 011 � 002 48 60.3 10 24.4554 244.5540 
PSU50 � 003 � 036 � 021 � 007 52 61.0 15 20.6465 309.6975 
PSU50 � 003 � 036 � 021 � 008 42 54.3 10 25.6487 256.4870 
PSU50 � 003 � 036 � 021 � 009 47 52.3 27 28.1545 760.1715 
PSU50 � 003 � 036 � 027 � 005 47 58.4 7 35.1575 246.1025 
PSU50 � 003 � 036 � 027 � 006 47 59.4 6 30.2458 181.4748 
PSU50 � 003 � 036 � 027 � 007 47 54.6 7 30.6458 214.5206 
PSU50 � 003 � 036 � 027 � 008 47 57.2 14 29.4571 412.3994 
PSU50 � 003 � 036 � 027 � 016 46 54.7 16 29.1154 465.8464 
PSU50 � 003 � 036 � 027 � 017 47 52.3 9 30.5456 274.9104 
PSU50 � 005 � 004 � 002 � 005 47 54.2 7 28.4687 199.2809 
PSU50 � 005 � 004 � 002 � 006 46 51.3 17 33.1454 563.4718 
PSU50 � 005 � 004 � 002 � 016 47 57.0 12 28.1574 337.8888 
PSU50 � 005 � 004 � 002 � 017 47 50.3 16 30.5454 488.7264 
PSU50 � 005 � 004 � 002 � 020 48 54.1 10 30.5487 305.4870 

��������� � 
�.  53 37.9 5 23.1543  115.7715 

 

5. ��
��
����������
"����K�����12-�3�$ P .�,�3�-����  

 
  �����������:������������?�'��� M4 ���6�<!�����������4��56����������:��4�B	 15 
<!� 
���������F?�'��� M1 �������������4��56����������	
���

�4���.��� 50 Krad �3���� 2 <!� �:� 
PSU50 � 003 ��. PSU50 � 005 ?���6� M2 
���������F�6�
��� 3 <!� �:� 2 <!���� PSU50 � 003 
(PSU50 � 003 � 012 ��. PSU50 � 003 � 036) ��. 1 <!���� PSU50 � 005 (PSU50 � 005 � 004) 
��.?���6� M3 
���������F�6�
��� 4 <!���� PSU50 � 003 �3���� 3 <!� (PSU50 � 003 � 012 � 
011, PSU50 � 003 � 036 � 021, PSU50 � 003 � 027) ��.��� PSU50 � 005 �3���� 1 <!� (PSU50 
� 005 � 004) �
:���#���$����
�!��=�!�>�	��������:��?����F$.�.�.������������� �3����
���<6�<!� ��.���
������>�	�<6�.
��<!����6� �.�.�������������?�
��<!� PSU50 � 003 
?�'��� M1 
��6��!����6�������������������� � 
�. ��."������	?�'��� M2 �<6?�'��� M3 ��. M4 
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�.�.��������������6�� K ��#�
>EB��<6��	
��6��!����6���������� � 
�. ��.?�
��<!� PSU50 � 005 

����F$.�'6��������� �<6?�'��� M1 �.�.�������������7
6
����
�<�<6�	������������ � 
�. 

6�����F$.�3�������<6�<!�>�	4�� K 
��<!�?�'��� M1 
��6��!����6�������������������� � 
�. ��.
��#�
>EB�?�'��� M2 ��. M3 ��6?�'��� M4 �3�������<6�<!����	 ����!�<!�=
����> PSU50 � 003 � 
012 � 011 � 002 4���3�������<6�<!�?�'��� M3 ��. M4 
��3��������!���	 
3�=������F$.���
���
���<6�<!�?�4�� K
��<!��"]������������ ?�'��� M1 �.
����
�������!����6���������� � 
�. 
=��	�����B�?�'��� M2, M3 ��. M4 ���
�������6�� K ��#�
>EB� ����!�<!�=
����> PSU50 � 003 � 
012 � 011 � 002 4��?�'��� M1 �.
����
�������!����6���������� � 
�. ��."������	��6�	�������?�
'��� M2 =��	�����B�?�'��� M3 ��. M4 
����
�����#�
>EB�������B	 (�8"4�� 24 � 38) 
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����� 24 �����b��>�	
��<!� PSU50 � 003 � 012 � 011 � 002 ?����F$.<6�	 K �:��.�.�������

������ (�) �3�������<6�<!� (>) ��.���
������ (�) �4������������������������� � 
�.  
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����� 25 �����b��>�	
��<!� PSU50 � 003 � 036 � 021 � 007 ?����F$.<6�	 K �:��.�.�������

������ (�) �3�������<6�<!� (>) ��.���
������ (�) �4������������������������� � 
�.  
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����� 26 �����b��>�	
��<!� PSU50 � 003 � 036 � 021 � 008 ?����F$.<6�	 K �:��.�.�������

������ (�) �3�������<6�<!� (>) ��.���
������ (�) �4������������������������� � 
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����� 27 �����b��>�	
��<!� PSU50 � 003 � 036 � 021 � 009 ?����F$.<6�	 K �:��.�.�������

������ (�) �3�������<6�<!� (>) ��.���
������ (�) �4������������������������� � 
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������ (�) �4������������������������� � 
�.  
 
 
 



 59 

-20

-15

-10

-5

0

5

M 1 M 2 M 3 M 4 
73�
���
���,
��
�3�
$

�
 

-20

-10

0

10

20

30

M 1 M 2 M 3 M 4 
73�

)*�
��
��
���
��,�
��
3�$

%
 

-40

-20

0

20

40

M 1 M 2 M 3 M 4 
73�

"�
�#
��
��
���
��,�
��
3�$

"3��'����%�$������ ������"����K��

"

 
 

����� 30 �����b��>�	
��<!� PSU50 � 003 � 036 � 027 � 007 ?����F$.<6�	 K �:��.�.�������

������ (�) �3�������<6�<!� (>) ��.���
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����� 38 �����b��>�	
��<!� PSU50 � 005 � 004 � 002 � 020 ?����F$.<6�	 K �:��.�.�������
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